auid ) guibinit JbS 99 ) onndinl ikl bt § Gl g

203F

a

203

:u_'?al,ihi pli
- B E

ah/-Y\F

PAY
A

Slgh B oy g
Sty Cilided e gle gl

25 il o ezl

LT L JUR PO W L gy

(o) ghmnce alol

IAD Jlom S5 18 diaw guals il uilid 515 5lbo 598 (539 39 3903 T

Lo N (R Y
Y e bl g Sl | il Sl i
5l Iy 3yt 3 ‘]'_.,,..a al i el "‘Ii"' ka3 g
A \ A it sdleatl pla le o Walliw Bulyy Jeedl g oo pla Lol Byl F aldd T s gy diigeme %
Lrlaiald pple 3 Guam Py supticinnale

e al ¥ L ol ash ylall i g ol g e i L]
- AN A Lt (i i ol ol 8 g gy il ¥
wa m Al T F
¥ i " Lornctll ol dal Ly 4 S b g P 6 &
- il b Lot ol ol gy B ol g rmins i) ¥
Tee "1 X! (gl A gl s o b o B g gL g gl il ¥
s 0y W [ BT T o A
™ TIF W {1 ol ) Plas e pal iy s G 3
bl m hitd Curit! 3 il 3 44 el 3 i o g e A7 g uetl 5 5 1
e [ W el 1
1 TvF bl fuptzm Ched 4t bl i b g i "
T8 Ty L1 (ot oy ) pess im0 i
T TP A Tyt i s 50 (8l i i g e G \F

gle i B pad .'_:,’.a_'.l Ty

dnad jla plbies cpadile j solicoal

REIRRIRE IREIREIRE R RE| R RIRERE R R | R R KRG RE[RE

s globy Sl yde il ol b g ol e e lehes ool jame U T gl g s ol ol ol sl ool il g e g iy RISy b ol L 8T

&3

REIREIRGREIRGIRGIRGIRE R R R REIRE R R R R

<

Gl ) il bt § 9 it 3] (guntbi JLS 90 3 Gls bl § Sl ! Gty




auid ) guibinit JbS 99 ) onndinl ikl bt § Gl g

Y asio 203F ulq.ﬂ; kel Uas 5.1:3».1_'“

e wladl ple Jle Mol Lily, Jpol 5 coslow ple Gleo) Lo lolyd adf i g s degaie
Hplir] pale s Gaind g, i pwbiidnls

Fog plas ucdgd olfils amlin &y 5 iy oloiar! 3,18 2 i 7 g 51 gy I 1l (Sleol i g gl
adl el g 1,8 JacB] el dmg ()
oo DSl (358a1) (255 5l Sglem (F
bl O3l (e SusgSe Sl (T
llmg Cags op 4y lad 1o g el b e (F
Tags 300 plaS i 520 Syl 5o (g p5gcamcti (31383 3 oLl 33 s U puilil g g0y il Y
S o pli gy glaanay (0
Silegorar g b sle gl dalol (F
OB Pl 4 S Pl g (Tl (i sla (T
g5 Jlms gl (gloojex (51p gkl Jolod (58 By (F
90 38 o0 3148 o3> ol guiadius plaF 540 ya 1A% am G IAFY 3 wib 48 0,805 s Al T

Al Ll 513 3 (F i S5 g SN i O
il i 7T el i g o e alas =¥

all b ) glea gy Sl Glas ay Lilas (0

olgls g o s e (F s (sl gyl 5T gl (T
Fians! ol o] 53 patio v 3T g s 090 plaS D

&y (F galyl (v |laa (Y e

Pl w32 g o b e aid gs oliwls 5 3ly0 0 9 plas P
sl p (6T ol gz CuagSi ()
aglad ageg e & Sl s Gl las sl ae g (Y
Wl 23,5 g0t 20305 sl el 4l e S (b B o ol (F
095 o b o g Sanay g ity plawy s oy g0 4 gs (6,5 IS0 daba (F
ol las ccdgs galdy jaic (negd plgieds e 85l50 Fgo -V
50 392y 5od ¥ prlga Sl B3lps (G130 b e s (atulie (ae) per Slgd GE2d b e ()
s 0gzg S0 g 490 lagle plad jo il e G e 23U AT glasil el ghaag S (Y
iy g oS5 il on 5o 3,0 peen iyl (2 103l 2y ome cyea e Sy sl Lagl (F
] s g m Y sl 5 ella wo bl pntd ol PL3E ) sal LSLS clacdes | oulw slejla (F
Yorlalud Combir 3o €0 w haot clay Jdai - A
Wyl gl D0 g 0 laa s pla OO
i pef e A il 5lee 31y o3l gl s (F
igdigs S ol 0jg g s wlgrad e Sl (7

it oo o108 coliily jpe 3l 3 les 0 1, gagdms gla s (F

*»

Gl ) il bt § 9 it 3] (guntbi JLS 90 3 Gls bl § Sl ! Gty



auid ) guibinit JbS 99 ) onndinl ikl bt § Gl g

¥ odoio 203F ,;,lq.ﬂ; ol Uag hgm

] ilaiio plad lyls il wlziily Joo -9
225 i a5 30 1) Camdly (] g gl SlRA ()
Syyees jledis 50,8 la il ez gl ged Jue SU (Y
S ey el Jae Sl Fadly linily ST alnlse (F
sl 58 e Su Slil ey SUl 5 solys slacisgams 28 5 ai o Sleay (F

Tagugn eolidal 390 1o 1 gl Fiiio glads 3)l90 ) (o3 1 30 palin g [ jde Slb gl Tg02 p5 W

Sghigd glaeg, (F o sl 5 (F w2l iy (Y el i ()
Tagle gt Sl drols S5 ogmg woliel o S8 coiwplas -1
(gt Uignsli 231 (F gy 5 (Y U (T cg=tba ()
ol ooy ol Mollip ol 5o Juo plad v 4 198 JLlo 5 Hallips ol 1 LU ols Jus olal p - VY
cibare _laigs (F ootz laz pllai ¥ lgb 4i3lsa (¥ il ya alals (1
Tl ot sl s i s ) o s iy Co8 Y
g gy (F gl (7 g s (¥ g 93 ()

fogali oo aalllan  Soms a0 Hadlimm Bily) 50 13500 9 jbslw da IF
ket i gl O gl i 1 eaktingte (1

peoliie lacdgo Gl lad byl paiions 3 il 90 O jgoay SIS o Mall g SUNS] Lad 3 Jo bg; 10
iy oF oo dr oSl | oy g0 s

kel iyala (F Sodleloss o 5l (T &l (¥ ke )
13,5 azgi 990 plaf @l S adly SeadS plide jl ddawgy )P

;,L.frl....l [ lﬂng_‘.f' q.}l_.,_:'!'- {T L.}}J‘S-ﬂ ..'I-J-.ﬁ* tBlﬂ...l UI

08 ijlae plla g el peal cladalon ol 31 (Y oW 3 o sl (F

Towl plas Clgs ile coeSl> 1Y
g 5l Y (5 lasdl g ()
Clsig s adyl g bl slojli angd )le (7
byl g dud o 5,l05050 & jad 5 plas ool (7
) s pan s jaal ailalj] pusd g pedas jo lsls sl (F
il a3l 390 plas VA
2l (S plli sloylie o Slinsd g D08 e g oSk e G S aplhi s s sl e T
g en zeia Jhallim pllai 13 goliis St 41 o83 Rk ol aland 2 Sl ol Tdlygs o 51 (T
Syl g dilraen 3855 s sl Ble (elow sla)LESle 3 Sglis (i U Sl A 1T
305 gl g Wmasls 4y s LLS ) dnals S sla 55, 9 @3gdabasl ool SaBlags Jaca 51 CF
RIS R S & P S R |
ol o 3l alS oalis 4 B )
A5 o et |y el sloodsdy cpo e daslg, (F
83 ga gdyh |y gllolli slaossss Sl (SisSa (F
i3 g JEs o 5 SIS [, anily 5 5,0 8 0580 g o F

Gl ) il bt § 9 it 3] (guntbi JLS 90 3 Gls bl § Sl ! Gty



auid ) guibinit JbS 99 ) onndinl ikl bt § Gl g

¥ amio 203F ulq.ﬂ; kel Uas 5.1:3».1_'“

Fis! s yoli 3590 plas” T
i gls bl Wallopy allai foe odlpe aleda 5 (caioa 4 lacend L ()
S ga s pod Jalaie Sadys gl pllsh 4 )l o 1y Lol 5 51 il (7
e o iy s lpds e 53 3008 5 o 85 5 i 5] gkl e ol Sla s e (F
AL 1k eleia slacdas | cwlew Sipad i g s le g allei SLS a5l e Sl S adls (F
Faal Sl abge 4z JOlaT il Adld ke vnid 93y LOLET § 435 45 j90 58 —Y)
iy e pe b il Lol e s (Y il Cules o Lelil | e ol (0
il a8 Lalad jlase Jmia oS (F Al iy Lala jlase gomis ol (7

- Va
ax Y15 Q polie anls oljlay (sl dol jo 1 g Lolii jladio o e Q) wdl Q=T I gl Ll alli S Yy

T || et

&gt (F &g (7 wole (T Loy (I
€33 5 g0 S L YIS 990 alaS ul3il b Vgoso Y

YIS el (Y Camaz ()

YIS sl LaSle sluas (F 8T U s il (T

i
Pl oIS ol ds o 03l sl Q@ = OLY KT sl sdoi aali -YF

n..h..'..:t.,.ﬁ (F adialt (Y = (T = (4
S oo Cadlad ol Sl S 50 A S AR & by o LW ailyi 3 Suplas YA
P=ge+l (¢ P=80-Q" (v P=0eQ (7 P=po ()
T

FAS go (g et 4 (o g il 00l 013 (91l solaa 1 b 1 gt (2108 Olge 4T i jgu 0 TF
ol o tals olay Lo (F aile o 2l (¥ Auls e byl (Y Al e 2alS ()
Toawl plad Jolae  oliil GlEG -TY

le sl o IS (F acs SIS (Y s2sS , BSL (Y o SIS ()
sl ply od pae dy g oo b S e 0 ol o (yloj plas 3 —TA

ol azals a3 F o agaly S e das (T REQRL JECH IO | (B~ 4

il e s 5l 258 (6l B e Las (F iy azbls az s FO dgl; 8 pume las (Y
i (oo 5 e 42 St o> 09 plp ¥ g Gl w38 g cal (Jy 0 51 T4

By 0 Pl da s Voo (¥ "L’L'l_-.-‘ als dea Be ()

S ad (& s (F S ca ks 80 5]y (V

Fogub o0 tguuntne  oadld dal 33 05 500 plas” T

plaew 3lhgl j0 5N le s 5l Lol ..LuT|Ja g

gy Cailes b S8 Lta Gliel 5l sl ogen (F
Dl gy plajla filsd S L jlend ] sl s g (F

-_".J’J IL_,l.Tu.»..a..ﬂ.l -_.q.h-&_p.'" -—lbhr}uﬂ.'-'sq ._;"LI‘E JI J..G’L.‘J- M-IIJ-J {f

*»

Gl ) il bt § 9 it 3] (guntbi JLS 90 3 Gls bl § Sl ! Gty



auid ) guibinit JbS 99 ) onndinl ikl bt § Gl g

& domies 203F ulq.ﬂ; kel Uas 5.1:3».1_'“

Tl plas (Sai ol S 90 010 puded € colisil Sai pagio b nlef o |y cwlilidmel>  -)
sole poplia 5 callanal> lwe 51 (Y oole ponlia g Condly b allail ()
eibis | Yarl g | Salilasals slas 51 (F sidaze Naz ) g coadly b aldalt (7

o dgary §f 5% 42 Wl o ool 3 Lo St 0 ueleh ol (i 3199 g € oelainl aclyd (508150 sl —YY
el oo 42 i iy 1

O P9y 3 8l adl (Y O eyt 3 Ol ()

O ol 5 g pde S 3 (F )l pdly g o elena! (7
Tl go 4 1y sl idlglojln saal 38 12405 b olesinl Solil bLijl Rigks YT

uﬁ-Lé;-.:_"'l JL:JLL-I {T— l-j.lf-l.o.:.:rl .};J,ljr '[T l..fc'i"'-"?l ,;LE_] f_"[' 'JAL‘:_?_I .PLE'-;- {1|
faigd oo oo dale Jlidy o @ @390 al> po plaf p0 oloial glafie - TF

Ghdrasealys (F ozl (T Szl (¥ Jsss (8
il Gy Syl plad Yo

il | gelozal slgh S Zlaasl (Y ol elaZzd flaila G Zlaasl (0

] I_.J_;.‘I.n_.}! LJB"I:‘F ) Elﬂ'jji {r il |_F"-'Lul ajJ_'f ) E@Jj' r

Vil Gy lodmlsiu gy o3l y0 Sl plas —TF
il e plate s glosssss I ol aF coot elaial sady Eoagas ()
Amd jap os5 3l laglie ol 8 Galid plppe il ced celatsl anay (F
sl 2108 jagls sluaz ey clatel sy blas a0 Salo ol (Y
wyls ga 3 eal elaisl sosa (F

3,18 (g ez @ lobias S g Tle sluys jI T

s (25,7 o2 g 538 o (T ot ag, S g 0,8l s 0
€l ol Loy ki pmatl 3 s p1F o g onsc gl 51 —F'A
selaznl Ll (F S L il (v a8 ()

Gl 88 55 (50 0 potria pla i 53 | 4 puolan ooladorl baily 0 (S s Jgl o GlalT ulididsnalr T4
e plolons asal> (F ald) ansl> (¥ Oy daale (Y Oyl dasle ()
LTI IR S PETT S FRPC R
Fhedt blate 208 e laaiondl et ada g Bl ()
A slaosyl ooyl Ko lalud g gei (Y
a8y b el LSl (slagfiad (F
s Ul o Laatyadl g o1 s (F
ol hudind £ i a2 ol Guiimi T
el ol ele elaslisy a8 ko (4
il gz ooy (elagl; Ll o o8 a5 des (Y
2y gn gl e oolinals e ] (sloazily  puli aF ddos (T
el pale and; Sy o phate Sl S F o aaF s (T

*»

Gl ) il bt § 9 it 3] (guntbi JLS 90 3 Gls bl § Sl ! Gty



auid ) guibinit JbS 99 ) onndinl ikl bt § Gl g

Foasio 203F ulq.ﬂ; kel Uas 5.1:3».1_'“

Tuss o b pSiio plal 15 4008 o foe Lallas o sl g0 pler Sojle - FY

s (f o (¥ s (T 2 ()
fiamal anlie slaools (591058 3 (35 (ol glome paic plas —FY
o i 2 S (F el Ja (7 il e B (T eied by ()

Tl T u.lh.mﬂ '-'J:"ﬂ!}f- L'SIJJI Db plus -FF

ol | pislas Amets oles (Y el JElE 5 g paS slaalllas ()

it ol gy 2ai (¥ Wl (Siligy Aadllae (7
Tl glovmline dallle ¢ o 090 plad ~Fh

J..J._n.ﬂ d)lsll--&ﬁ'; {T— L:-.?'L.Aa '[T -.'-IL'..-n.lI M et P {T Mul_r-.wﬁ_ {1I
il ool sy 1)t (Mg glaplejls o i 5l b (ol g Rdiand p3 - FF

Fasali oo dor |y Lndad b 5l aigd ol alui JAF T d gy okl b | S el g ol plin

et A |y WBdma 59 § o PLEIT NS L i B PR } e U 5l )

Jacgs elaas @ qf apeiie dim e (¥ sales husg (¥ aslw e (0
il fmlin S50 plas jleslinn] gam Wi sla b oLl g gLl pbj)l g ool 0 -FV

pompleiia (F 0 Ron i (7 bele ol (T gl s el ()
Fiwl digh | e oSl jlidie e slacaaes ;8 —FA

Sl i ailis by (¥ ot il 31 4288 ()

(oo diln 3l ad (B g it a5 (F s i 51 i (F
Pl Coiya Jol £ai gllas  paas 5.0 00 plas -F4

el s 4 Jlej i 4o Jo8 (Y el iz a5 la; is aisy8 g ()

Wi et &5 o R ans 8 0y (F i s 45 lej e s i a5 (7

il plas g ;55 0 (Error of prediction) Jw iy slas i jeliie  -0-
lopaie (o s o alal, 092y (T anly o Joies s (o oS sl 5p ()
¥ 51y Gyl F lallas g e (T

(T s @) bl K b g 0 ) g bl L

Grammatik:

51- Konrad 11, erkannte Lothars Schwiegersohn, ..........., dessen Herzogtiimer ab,

1) den Welfe Heinrich den Stolze 2) dem Welfe Heinrich dem Stolze

3) den Welfen Heinrich den Stolzen 4) dem Welfen Heinrich dem Stolzen
52- Die Kinige stiitzten sich im Spitmittelalter nur noch ..... Reichsgut.

1) auf ein geringes 2} iiber ein geringes

3) auf einem geringen 4} iiber einem geringen

53- Die Gestapo hat ...... verdiichtigt.
1) dem beriihmten Politiker des Mordes an seine Frau
2) dem beriihmten Politiker den Mord an seiner Frau
3) den berithmten Politiker des Mordes an seiner Frau
4) den berithmten Politiker dem Mord an seine Frau
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Das Passiv fiir den Satz ,,Bismarck hiitte rechtzeitig die Politik ,,Das Gleichgewicht der

europidischen Michte* verfolgen sollen* lautet:

1) Die Palitik ,Das Gleichgewicht der européiischen Michte® wiire rechizeitig von Bismarck
verfolgt werden sollen,

2) Die Politik ,.Das Gleichgewicht der curopiiischen Michte™ hiitte rechtzeitig von Bismarck
verfolgt werden sollen.

3) Die Politik ,.Das Gleichgewicht der européiischen Michte™ wiire rechtzeitig von Bismarck
verfolgt worden sollen.

4) Die Politik ,.Das Gleichgewicht der europiischen Michte™ hiitte rechtzeitig von Bismarck
verfolgt worden sollen.

Im Text steht gar nicht, wann Hitler seine Frau .....

1) kennen gelernt hat 2) hat kennen gelernt

3) hat kennen lernen 4) kennen lernen hat

Wortschatz:

Auforund seines vor- und iibernationalen Charakiers entwickelte sich Heiliges

Riimisches Reich nie zu einem ...... .

1) Rechtsstaat 2) Nationalstaat

3) Giberparteilichen Staat 4) konstitutionellen Staat

Seit 1924 gilt die Bezeichnung ,,Rundfunk® amtlich fiir ...... .

1) Radio, Fernschen und Film 2) Fernschen

3) Radio und Fernsehen 4) Radio

Nato ist ein ...... Verteidigungshiindnis.

1) kontinentales 2) nationales

3) internationales 4} westeuropiiisches

Fin zum Zweck der Durchsetzung gemeinsamer Liele geschlossenes Biindnis heildt ..... X

1) Opposition 2} Koalition

3) Biirgerinitiative 4) Partei

Zeitungen sind in Deutschland in ihrer politischen Meinung unabhiingig und unterliegen

keiner staatlichen ..... .

1) Zensur 2) Gewalt
3) Partei 4) Richtlinie
Textverstehen:

Durch die Wahl des séichsischen Kurfiirsten Friedrich August 1. im Jahre 1697 zum Konig
von Polen kam es bis 1763 zu einer Personalunion von Sachsen und Polen, die durch den
Groflen Nordischen Krieg und den Polnischen Thronfolgekrieg unterbrochen wurde.
Ebenso gab es von 1714 bis 1837 eine Personalunion von Hannover und England. Das
Aussterben der spanischen Habsburger 16ste 1701 den Spanischen Erbfolgekrieg aus, der
mit dem Tod von Joseph L. eine [lir Habsburg ungiinstige Wende nahm., allerdings auch die
Krifte Frankreichs erschiitterte. Das dsterreichische Haus Habsburg war unter Leopold 1.
und Joseph [. dennoch zur europdischen Grolimacht geworden. Das Aussterben der
dsterreichischen Habsburger im Mannesstamm mit Kaiser Karl V1. fithrte 1740 zum
Osterreichischen Erbfolgekrieg. Zum Ende des 18. Jahrhunderts konnte Karls VL. Tochier
Maria Theresia die Kaiserkrone fiir ihren Gemahl Franz 1. zwar mit britischer Hilte
schlieflich gegen preuBische Hegemonialanspriiche verteidigen. sie verlor aber im
Siebenjihrigen Krieg im Jahre 1763 Schlesien endgiiltiz an Preulien.
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61-

62-

63-

69-

Dem Text entnimmt man, dass ,,der Spanische Erbfolgekrieg™---———- 3

1) die spanischen Habsburger dem Aussterben aussetzte

2) das Aussterben der spanischen Habsburger einleitete

3) die spanischen Habsburger vor dem Aussterben bewahrte

4) die Folge des Aussterbens der spanischen Habsburger war

Preulien wird im Text als ----—— bezeichnet.

1) ein selbststéindiger Staat

2) ein Staat im Schatten der GroBmacht ..Osterreich™

3) ein von der Politik Osterreichs abhingiger Staat

4) ein Staat aus dem Haus ..Habsburg*

Welcher der folgenden Siéitze stimmt nicht?

1) Der Osterreichische Erbfolgekrieg geschah unabhiingig vom Spanischen Erbfolgekrieg

2) Der Spanische Erbfolgekrieg und das Aussterben der spanischen Habsburger stehen im
direkten Zusammenhang miteinander.

3) Der Spanische Erbfolgekrieg liste den Osterreichischen Erbfolgekrieg aus.

4) Das Aussterben der Habsburger loste sowohl den Spanischen als auch den Osterreichischen
Erbfolgekrieg aus.

Maria Theresia wird im Text als —------- hezeichnet.

1) die erste Kaiserin in der Geschichte Osterreichs

2) eine sich fiir die Kaiserkrone ihres Ehemanns einsetzende Frau

3) eine Fran mit Ambitionen auf die Kaiserkrone

4) eine Kaiserin, die zu spiit die Kaiserkrone ihres Gemahls verteidigen konnte,

Der Spanische Erbfolgekrieg ------—- "

1) hatte verheerende Folgen fiir Frankreich

2) lieB Frankreich seine Krifte sparen

3) bestitigte die erschiitternde Kraft Frankreichs

4) besiegelte Frankreichs Ruhm als eine GroBmacht

Geschichte und Kultur:

Welche Versammlung tagte im Jahr 1848 in der Frankfurter Paulskirche?

1) Deutscher Zollverein 2) Deutsche Gewerkschaftsversammlung

3) Frankfurter Nationalversammlung 4) Frankfurter Zollvereinigung

Die erste Republik mit demokratischer Verfassung in Deutschland heilbt —------- .

1) Deutsche Republik 2) Bundesrepublik

3) Erste Republik 4) Weimarer Republik

Welches Ereignis fand am 20, Juli 1944 statt?

1) Angriff Deutschlands aul die Sowjetunion

21 Gescheitertes Attental aul Hitler

3) Das Zusammentreffen von Hitler und Mussolini

4) Die Besatzung Frankreichs

Dic vier Besatzungsmiichte, die nach dem Zusammenbruch des "Dritien Reiches"
Deutschland in vier Besatzungszonen aufgeteilt haben, heillen
1) USA. Russland. Frankreich. England

) USA. Russland, Frankreich, Grolibritanien

3) USA, Sowjetunion, Frankreich, England

4) USA. England, Sowjetnion, Chnia

Die Abkiirzung “DDR" steht fiit ------mm- :

1) Die Demokratische Republik 2) Demokratische Deutsche Republik
3) Deutsche Dynastierepublik 4) Deutsche Demokratische Republik
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71-  Als Wirtschaftswunder wird in erster Linie der rasche Wiederaufbau der Bundesrepublik
Deutschland nach --——--- bezeichnet.
1) der Wihrungsreform vom Juni 1948
2) dem Marshalplan vom April 1948
3) dem US-Wirtschaftsprogramm vom Mai 1947
4) der Verabschiedung der Verfassung im Mai 1949
72- Wo finden die Parlamentssitzungen des Deutschen Bundestages statt?

1) Im Senatsitz von Bonn 2) Im Rathaus von Bonn
3) Im Rathaus von Berlin 4) Im Reichtagsgebiude von Berlin
73- Parteien, dic weniger als ----- = der Stimmen bei Parlamentswahlen erhalten, kiinnen
keine Abgeordneten in den Bundetsag schicken?
1) %l 2) %5 3) %al 4) %3
74-  Mit welchen Worten beginnt die deutsche Nationalhymne?
1) Deutschland, Deutschland iiber alles 2} Heil dir im Siegerkranz
3) Einigkeit und Recht und Fretheit 4) Die Deutschen. die Deutschen

75-  Was besteht aus dem Bundeskanzler und allen Ministern der deutschen Bundesregierung?
1) Bundeskoalition 2} Bundesfraktion 3) Bundeskabinett  4) Bundesgremium

T6- Man bezeichnet die Streitkriifte der Bundesrepublik Deutschland als .... .
1) Bundesheer 2) Bundeswehr 3) Wehrmacht 4} Bundesarmee
77-  Auf welches sportliches Ereignis nimmt ,,Das Wunder von Bern 1954% Bezug?
1) Fussball-Weltmeisterschafi 2) Leichtathletik-Welimeisterschafi
3) Olympische Spiele 4} Fussball-Europameisterschaft
78-  Welche Farben hat die deutsche Bundesflagge?
1) schwarz, rot, weib 2) rot, weill, schwarz
3) weild, gelb, schwarz 4) schwarz, rot, gold
79-  Wic heillt der Nationalfeiertag der Bundesrepublik Deutschland und wann wird er
begangen?

1) Tag der deutschen Einheit. 3. Oktober

2) Tag des Mauerfalls. 9. November

3) Tag der Freiheit. 2. September

4) Tag der Kapitulation der N5-Wehrmacht. 7. Mai
80- Wie heibt die deutsche Nationalhymne?

1) Einheitslied

2) Ode an die Freunde

3) Hymne der Deutschen

4) Deutschlandlied oder Lied der Deutschen

g bl b ) oY (U pol Kb 9 20,0 5 o Ll

81- Quien defendia de los derechos de los esclavos:

1) Fray Bartolomé de las Casas 2) Alonso de Ercilla
3) Bernal Diaz del Castillo 4) Hernan Cortes
82- Los intereses de las provincias se unifico en el siglo XV1 con el establecimiento de:
1) La Encomienda 2) La Casa de Contratacion
3) El Consejo de Indias 4) La Real Hacienda

83- Carlos Menem gand en 1989 las elecciones en Argentina, representando al Partido
Peronista. Aplico una politica:
1) Populista de centro 2) Claramente neoliberal
3) Claramente de izquierda 4) Populista y autoritaria
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84- EIMERCOSUR (Mercado Comiin del Sur) creado en 1991, tiene los siguientes Estados
miembros:
1) Peri, Bolivia, Chile v Ecuador 2) México. Canada y Estados Unidos
3) Veneruela, Colombia y Ecuador 4) Argentina, Brasil, Uruguay v Paraguay
85- El principal cultivo de Cuba ha sido tradicionalmente:
1) El cacao 2) El trigo 3) La papa 4) La cafia de azicar

86- Entre 1879 y 1883 Chile enfrenté contra los aliados Bolivia v Peri. Este conflicto dio a
conocer en la historia como -------====e-n

1) La Guerra del Pacifico 2) La Guerra de Cenepa

3) La Guerra de Cartagena 4) La Guerra de los Comanches
87-  El pueblo indigena que luchd contra Pedro Valdivia ——----———- N

1) El pueblo avmara 2) El pueblo quimbaya

3) El pueblo mapuche 4) El pueblo mochica
88- Gabriela Mistral, premio Nobel de Literatura, fue:

1) una escritora colombiana 2) una poeta chilena

3) una novelista guatemalteca 4) una ensayista v poeta mexicana.

89-  El partido politico beliviano, fundado en 1947 v que dirigio la revolucion de 1952:
1) Movimiento Unidad Plurinacional Pachakutik- Nuevo Pais (MUPP)
2) Movimiento Nacionalista Revolucionario (MNR)
3) Frente Farabundo Marti para la Liberacion Nacional (FFMLN)
4) Partido Democratico Revolucionario (PDR)
90- La latinizacion de las palabras es una caracteristica del:

1) Determinismo 2) Conceptismo
3) Culteranismo 4) Tremendismo
91- Me llamaba por teléfono cada dos por tres.
1) Frecuentemente 2) Raramente
3) Acompasadamente 4) Nunca
92-  Después de las vacaciones de Navidad nos hemos quedado a dos velas.
1) sin comida 2) sin luz eléctrica
3) sin veladas 4} sin dinero
93- Maria estd muy gordita ---————----- - lo poco que come,
1) Para 2) Por 3) Contra 4) Ademas
94- Estudia demasiado, por eso no puede ------------ -~ tantos conocimientos.
1) Aceptar 2) Asimilar 3) Incorporar 4) Contraer
95- Este es el caming ------——==--=- vinimos la altima vez.
1) Adonde 2) Donde 3) Por el que 4) Para donde
96- “Bravuconeria™ es sindnimo de:
1) maton 2) valentia 3) valeroso 4) fanfarronada
97-  Los establecimientos tradicionales, -——=======m=mmx ,» buscan maneras de mantener su clientela,

1) las tiendas de a pie de calle v los puestos de los mercados.
2) los de plazas v pueblos.
3) los del trato de personas.
4) los pequefios comercios.
98- La proposicion “El poeta empieza donde el hombre acaba.” Donde el hombre acaba es
una proposicion:
1) incluida adverbial 2) Sustantivada
3) Adverbial 4) incluida sustantivada
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99- A mi me parece bien que -—------eemeame- andando al colegio.
- Bueno, yo sé lo que pasa, es un poco pequefio todavia y deberiamos llevarlo en coche,
1) iria 2) vaya 3) habria ido 4) vas
100- Caminé hacia la estacién por la misma acera por donde él ----- -=—--=—- al har Cornito,
cruceé sucios vestibulos, anduve con aire de casualidad.
1) debiera ir 2) debe ir 3) debia ir 4) debio de ir
101- En respuesta a su carta del 25 de abril, tenemos el placer de comunicarle que, conforme a
sus instrucciones, ------—-—------—- a nombre de su empresa cinco habitaciones parael 12y 13
del mes que viene.
1) se reserva 2) reservabamos
3) hemos reservado 4) habiamos reservado
102- No es que es50s centros sean -——--——---—- —- cindades, es que son mas bien -----—-—-——---- galaxias
del consumo.
1) bien, como 2) como, como
3) como, en especial 4) con el fin de que, como
103- Belleza que vo he visto, jno te borres ya nunca!l
Es una:
1) proposicidn incluida adverbial 2) proposicion incluida sustantiva
3) proposicion incluida adjetiva 4) proposicion endocéntrica sustantiva

104- “Cuil de las siguicntes frases es un sintagma nominal referencial?
1) No me gusta nada.
2) Pedro esta aqui.
3) Su propuesta me sigue pareciendo inmejorable.
4} Un escritor de novelas policiacas es el autor del crimen.
105- La Década Pérdida se refiere a la década —--—------ ]
1) de los ochenta. en el plano moral argentina
2) de los ochenta, en ¢l plano de la politica chilena
3) de los ochenta, en el plano de la economia chilena
4) de los ochenta, en ¢l plano de la religiosidad argentina
106- EI positivismo ¢s una corriente que
1} artistica y literaria- tiende a destruir definitivamente ludm los restantes mecanismos
psiquicos, v a sustituirlos por la resolucion de los principales problemas de la vida
2) filosofica - consiste en que la construccion roméntica se sirve como catalizador durante su
desarrollo
3) artistica y literaria- se basa en la creencia de una realidad superior de ciertas formas de
asociacion desdenadas hasta la aparicion del mismo, v en el libre ejercicio del pensamiento
4) filosofica- propone que el progreso se puede llevar a cabo mediante el estudio cientifico
de hechos observables
107- Picasso fue uno de los creadores del -=—==<aee-- we==; ¥ fre autor de ——--ccmmeeeeee
1) Cubismo- ‘Las sefioritas de Avirion’,
2) Cubismo- “El cesto de pan v Joven de Figueres™
3} Surrealismo- ~Retrato de mi padre™
4) Surrealismo- “La siesta”
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108- La andfora es una figura retirica que consiste en =------m--=-mn- .
1) utilizar una palabra con varios significados
2) la repeticion una misma palabra al principio de distintos versos
3) la alteracion del orden habitual de las palabras dentro de una oracion
4) repetir una misma estructura varias veces pero alterando algln elemento
109- La primera fase en las dictaduras militares en Amériea Latina fue la fase reactiva en la
que la problemitica central del nuevo régimen fue ———---—— .
1) eliminar a los adversarios contra los cuales se ha dado el golpe militar. El elemento bésico
de esta fase es el represivo v el actor principal indiscutible son las Fuerzas Armadas.
2) impedir la consolidacion de las transformaciones que echan a perder viejas conquistas, v
ganar espacios de resistencia
3) bajar la deuda externa, el paro, la recesion, v el deterioro del aparato productivo que
presionan a un Estado con problemas
4) preparar la condicion de salida de los actores principales del régimen militar y las
caracteristicas del que ha de sustituirlo
110- La etapa mias claramente reformista en el aspecto eclesiistico en el siglo XVIII se inicid
con el reinado de Carlos 111, quien era partidario de ---—-----uv-- .
1) la aplicacion de las mas estrictas doctrinas regalistas
2) la sustitucion de los sacerdotes seculares por los frailes
3) las ordenanzas de intendentes v las Juntas Superiores de Real Hacienda
4) que las reformas solo tuvieran un exito parcial v fueran efectivas en las regiones mis
prosperas

L

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The large-scale settlement of North America by Europeans began in the seventeenth
century. France took the early lead in the contest for the temperate regions of North
America. In 1608, the first permanent French colony was established at Quebec. In 1682,
[La Salle explored the Mississippi River and claimed the entire river system for France.
But despite these early successes. there were never enough French settlers to make
French North America a large center of population.

The Dutch under Henry Hudson explored the eastern coast of the continent and
claimed a large area, including the river that was named after him. The Dutch colony of
New Netherlands started with a few trading posts on the Hudson River, where New York
City is now located, and expanded into enterprises in New Jersey. Delaware and
Connecticut. The Dutch settlements suffered a lot of competition from the English. and
eventually the Dutch governor was forced to surrender all Dutch lands to the English.

England's commercial and political growth at home soon gave it the lead in the colonial
race but this success came only afler some early losses, such as the failed colony on
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Roanoke Island. The first success for England was in 1607 at Jamestown, There were also
permanent colonies farther north, in the area known as New England.

The colonies of North America grew dramatically bevond the first settlements at
Quebec and Jamestown. Population ligures for the seventeenth century show that in
1625 there were around 500 settlers in French Canada and 200 in Dutch settlements, but
there were 2,000 in the English colonies. Filty years later. the English had absorbed the
Dutch colonies. By 1700, New France had around 20,000 people, but the English
colonies had a quarter of a million.

The European conquest of North America contributed to international conflict. In the
seventeenth and eighteenth centuries. the European powers fought several wars in North
America, Most of these conflicts were extensions of wars taking place in Europe at the
same time, but some were started by the colonists themselves. The conflicts — especially
those between England and France — were mostly over commercial interests and
signaled the intense rivalry for control of North American land and resources.

111- What can be inferred from paragraph 1 about the French settlement of North America in
the 17th century?
1) The French colonies had fewer people than did other North American colonies.
2) The French settled North America in order to control international trade.
3) French settlement never extended beyond the original colony at Quebec.
4) The French were more successful than any other European nation at the time.
112- Why dose the author use the word “race” in paragraph 37
1) To describe the ethnic differences among Europeans
2) To show that failure comes more quickly than success
3) To emphasize the competition among European groups
4) To trace the origin of a popular sport in North America
113- The author discusses population members in paragraph 4 in order to -------——---- ;
1) explain why Europeans migrated to North America
2 show how humans influenced the natural environment
3) compare the populations of North America and Europe
4) illustrate England’s growing power in North America
114- According to the passage, why did the European powers fight wars in North America?
1) The European powers wanted to conquer the native population.
2) There was great competition for control of land and resources.
3) The French and English armies wanted to test their new weapons.
4) The European nations were trying to spread their political systems.
115- What ¢an be inferred from the passage about the relationship between the Dutch and
English colonies?
1) The Dutch and the English competed for land, and the English prevailed.
2) The Dutch settled in areas where the English had failed earlier.
3) The Dutch and the English were each other’s largest trading partners.
4) The Dutch joined forces with the French to fight against the English.
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PASSAGE 2:

One way of studying human geography is in terms of movements. This was a dominant
theme in the spatial analysis school which dominated human geography for much of the
sixties and which is still influential today. The point is that the reproduction of a
particular distribution of objects — factories, houses. highways. airports, the people
themselves — depends on various sorts of flow: movements of raw materials for the
factories. movements of money with which to buy the raw materials. movements of
labor among others. To the extent that the geography of movement changes then so will
the distribution of houses, factories, and the like. As investment moves out to the
suburbs, for example, so the form of the city changes: housing is added on the edge but
we often find housing towards the center of the city being deleted. The shift of
investment to the suburbs is a major reason for the fact of housing abandonment that is
so apparent in some American central cities, like Detroit and Chicago.

But more recently. the converse of movement. the idea of settlement. of
immobilization or embedding in a particular place, has come to be recognized as of
immense significance. This is particularly so from the standpoint of understanding
territoriality. It is certainly true that people move around. Residential mobility within
cities is a fact of life and without it realtors would go out of business. And people also
move over much longer distances, retiring from. say, New York or Montreal to Florida
or from the United Kingdom to the Costa Blanca in Spain. In a similar fashion, firms
move. They close or sell factories in one location and shift their operations elsewhere.
But there are contrary tendencies as well. People. firms, organizations of all types get
embedded in particular places: embedded in the sense that other places become costly
substitutes for their current locations.

116- The writer organizes his discussion of human geography by -——-——---,
1) examining its central concepts
2) listing its applications in human lite
3) explaining its theoretical underpinnings
4) focusing on how it can be studied
117- The word “which™ in paragraph 1 refers o ————--amm—,
1) theme 2) school
3) movement 4) human geography
118- According to the passage, what happens when the geography of movement changes?
1) More and more factories will be built.
2) The culture ol people is greatly influenced by it.
3) The distribution of money and labor changes, too.
4) Objects and people start to move in opposite directions.
119- The writer mentions some American cities in paragraph 1 to show that —--————- .
1) they have been affected by housing abandonment
2) their citizens are against the idea of investing in the suburban areas
3) they have asked their citizens to help the economy by buying houses in the suburbs
4ymany of their citizens are immigranis who live in abandoned houses in downtown
areas
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120- The passage indicates that embedding —-------vme- .
1) is the direct result of movement
2} 15 not necessanly limited to people
3) occurs when the number of the workforce in an area increases
4) refers to the strategies realiors use to persuade people to buy houses in particular places

PASSAGE 3:

Some of the tensions that constitute cultural studies in fact are built into the diverse
history of meanings given to the word culture itself. "Culture,” Williams writes in
Kevwords."is one of the two or three most complicated words in the English language."
Its history includes not only static and elitist equations of culture with the achievements
of civilization but also broader notions that encompass all symbolic activity. as well as
references to culture as an active effort at nurturing and preservation. Moreover, as
Williams was able to show through his research on the "emergence of culture as an
abstraction and an absolute." "the idea of culture is a general reaction to a general and
major change in the condition of our common life. [ts basic element is its effort at total
qualitative assessment” (1958, pp. xvi. 295). The attempts to define culture thus each
grew out of necessity, out of responses to historical change. Williams helps us locate the
broad impetus that motivates not only the British tradition of cultural studies but all the
traditions to identify and articulate the link between culture and society.

After his survey of the varied meanings associated with the word "culture." Willliams
concludes that it simultaneously invokes symbolic and material domains and that the
study of culture involves not privileging one domain over the other but interrogating the
relation between the two.

121- What is the author’s main purpose in the passage?
1) To explain why it 1s hard to define culture
2) To list the different meanings of the word culture
3) To offer a very general definition of cultural studies
4) To identify some of the recurrent elements of cultural studies from Williams's

perspective
122- The word “encompass™ in paragraph 1 is closest in meaning to ----——---—-- ;
1) explain 2) control
3) underlie 4) include

123- The passage indicates that the British tradition of cultural studies -------- —
1) was established by Williams
2) has not been able to distinguish culture from other social influences
3) seeks to investigate the relations between culture and society
4) inspired Williams to make a study of the various meanings of culture
124- It can be concluded from the passage that Williams believes culture —----—--- .
1) is a static entity
2) is the very material of our daily lives
3) cannot be defined in relation to history
4) cannot be studied without prioritizing its domains
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What is the writer’s attitude toward attempts made at defining culture?

1) Concerned 2) Subjective

3) IndifTerent 4) Argumentative

gl b ) il o Fid g 2oyl

Which of the following about the background to ‘Acts of Union (1800)" is NOT TRUE?

1) In the century that followed the union of England and Scotland, Ireland gained
effective legislative independence from Great Britain through the Constitution
of 1782.

2) Before these Acts, Ireland had been in perpetual union with England since 154 1.

3) Ireland and Scotland had already become a union following a supressed Catholic
rebellion calling for the independence from England in 1745.

4) In 1707, England and Scotland were united into a single kingdom: the Kingdom
of Great Britain.

The 1812 War between Britain and the United States --------—-—-

1) stopped immediately after the defeat of Napoleon by the Brlllhh in Europe as
France had supported the United States from the outset

2) was fought almost entirely at sea around the coast of New England and eastern
Canada

3) involved huge boundary changes between Canada and the US especially on the
East coast of Canada

4) had as one of its reasons trade restrictions brought about by the British war with
France.

The 1829 Catholic Emancipation act (The Roman Catholic Relief Act 1829) ----———-- %

1) permitted members of the Catholic Church to sit in the parliament at Westminster

2) was the occasion of the violent Gordon Riots of the mobs against the governments in
parts of England

3) admitted Catholics to the practice of law for the first time in England after the
Retormation

4) would allow the Catholics the exercise of their religion but no open religious schools
of their own

Early 19" ¢, events happened in the correct order in --=------eea-

1) Napoleon defeated at Waterloo—= Abolition of the slav-:: trade in Britain=The
Prince of Wales becomes regent for George I11. who is declared incurably insane

2} Abolition of the slave trade in Britain= The Prince of Wales becomes regent for
George 1. who is declared incurably insane=*Napoleon defeated at Waterloo

3) Abolition of the slave trade in Britain=Napoleon defeated at Waterloo—=The
Prince of Wales becomes regent for George 111, who is declared incurably insane

4) Napoleon defeated at Waterloo® The Prince of Wales becomes regent for
George I11, who is declared incurably insane=> Abolition of the slave trade in Britain
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130-

131-

132-

133-

134-

The 19" ¢, movement *Chartism® was a ——-————-uumx movement for ——--—----—- - in Britain
which existed from ---———---—— y

1) working class / economic reform / 1832 to 1840

2) middle-class / political reform / 1838 1o 1858

3) working class / political reform / 1838 to 1858

4) middle-calss / economic reform / 1832 to 1840

Which of the following about The Independent Labour Party (ILP) is NOT TRUE?

1) It was a socialist political party in Britain established in 1908 in Brighton.

2) Its three parliamentary representatives defected to the Labour Party in 1947,

3) It was affiliated to the Labour Party from 1906 to 1932).

4) It rejoined the Labour Party as Independent Labour Publications in 1975,

The Boer War (1899-1902) was fought between the British and its allies on one side and

the ---—————-- on the other.

1) South Atfrican Republic and the French troops stationed in South Africa

2) French troops stationed in South Africa and the Orange Free State

3) French and Dutch troops stationed in the South African Republic

4) South African Republic and the Orange Free State on the other

Events in Victorian Britain happened in the correct order in ———---- ee,

1) Second Reform Bill=2 Indian Mutiny—2Great Exhibition of science and industry
at the Crystal Palace

2} Great Exhibition of science and industry at the Crystal Palace= Indian
Mutiny=* Second Reform Bill

3) Great Exhibition of science and industry at the Crystal Palace= Second Reform
Bill= Indian Mutiny

4) Second Reform Bill2>Great Exhibition of science and industry at the Crystal
Palace=2 Indian Mutiny

The Irish Free State was formed in 1922 as a result of the --——-————--,

1y 1920 Irish Act at Westminster

2) ruling by the European League of Nations

3) Anglo-Irish Treaty

4) Dublin Liffey Accord of 1921

The Great Depression in the United Kingdom, also known as the Great Slump, ——-----—,

1) was less severe in Britain than the other Industrial nations (such as Germany)
as it had never experienced the boom that had characterized their economies

2) began in late 1929 and quickly spread to the world, particularly the United
States and the British colonies

3) led to a relatively early economic recovery in the country after the in summer
of 1932 with a substantial increase in full-time employment in the mining
industry

4) ended in the de facto political domination of the Labour Party and a long retreat
for the Conservative Party for the entire 1930s
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136- The Battle of Britain during the Second World War concerned -———-——- !
1) evacuation of large areas of metropolitan England in fear of possible German
bombing and setting up defences across the UK in the period 1940 to 1942
2) large-scale British onslaught against the German navy in the North Sea the
following outbreak of war in 1939
3) attacks on German troops on the ground as part of the concerted efforts of the
Allies near the end of the war from 1944 to 45
4) resistance against the German air force by the British air force particularly the
during blitz
137- The 20™ century British PM Nevil Chamberlain is best known partly for his -----——-- :
1) role in the 1950s economic boom
2) appeasement foreign policy
3) introduction of the welfare state
4) negotiations at the Treaty of Versailles
138- The key figures in the British New Labour, besides Tony Blair and Gordon Brown, are

1) Alastair Campbell and lan Duncan Smith
2) Peter Mandelson and Alastair Campbell
3) William Hague and lan Duncan Smith
4) Peter Mandelson and William Hague
139- 'Which of the following events did NOT happen during the premiership of John Major?
1) “Invasion of Granada’
2) *‘Black Wednesday’
3) “Masstricht Treaty”
4) ‘Good Friday Agreement’

140- Historical events oceurred in the correet order in ------———-,
1) Treaty of Versailles = Women twenty-one and over granted voting rights=*Reign of
George V

2) Reign of George V- Treaty of Versailles = Women twenty-one and over granted
voting rights

3) Reign of George V=2 Women twenty-one and over granted voting rights = Treaty of
Versailles

4) Treaty of Versailles = Reign of George V2>Women twenty-one and over granted
voting rights
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141- B mamnane koH9acTed GeHIEH, HATO —
1) 3anpaBHTLCH 2) cipaBMTHCA 3) oTnpaBHTEC 4) mepenpasHTLCH
142- Crapuk HeoXOTHO BCTAI H ---- 38 MHOIl HA YJIAIY.
1) men 2) samen 3) pomen 4) Brites
143 cemeeeeceeees 3TY HCTOPHEO, NOKAN0H NHCATENL NpHEOGPET PO3Y.
1) 3uapummii 2) ¥Y3nas 3) V3Hnapan 4) 3naronimii
144- Kaxomy npEaaraTelbHOMY cBOHCTBENAA CTenens cpasHennu?
1) rrsamit 2) Germeri 3) Tyroit 4) papysHof
145- B kakoM TmpenloXenwH MecTomMenHe wiobofi» Helbld IAMEHHTE MECTOHMEHHSMH
WRABLIH, BCAKWE?
1) D1a kuura ects B m000M KHHAHOM MarassHe,
2) 3aiiau B 000 KHMAKHEIH Marasii 1 KYIIH 3TY KHHTY.
3) Ha mo0oii TBOH apryMeHT BCET/la MOXHO HaiiTH KOHTPapPTryMEHT.
4) Iiobyio Meno4b HALO YYHTEIBATE NPH NOArOTOBKE K COPEBHOBAHHAM.
146- Kaxoe npanararensnoe obpajlyercs NpHCTABOYHBIM cnocobom?
1) npeorpomuniit  2) obmenaponustii 3) 3aboTIHBLIH 4) npubepencrsiit

147- Moka emé geficTByer YKal OpPe3HIEHYA O MEPEXOdE € =—--—--—--=- Hi KOHTPAKTHYH
BoerRYI0 cayxly.
1) ABYX THICAYM CEALMOTrD rojia 2) IBe THICHAYH CEALMOID roJa
3) ABYX THICHY CEILMOr0 roja 4) ABe THICHYA CEALMOIO rojfia

148- B kaxoM NpeiI0KeHHH BhUIeeHHOE CI0BO0 ABIHETCH cOl030M?
1) Tax GopmoTtanu apyxuo Terepesa, cofnapascs B TOCKE) speMs noiparsca.
2) Mu nepernsHyIHCH H B [7a3ax Apyr y apyra nposarans ogxo # TOOKE) pemenne.
3) Bee nyumme MUHYTE €ro ®iiHM BApyr B ofHo B TOCKE) BpeMs BCIOMHUITHCE EMY.
4) On pech 3ansymics, o TO(KE) B neuis, no HeMy TEKYT IpAIHEle CTPYHKH NOTA.

149- TeaeBAZ0pP. YUTo e ThI HE BRANYMACHDLT —————--|PRIEM Yie -——.
1) Bemouw/ BrIHOYAl/ Havanca 2) Bemouail/ Brmoun/ Havancs
3) Brnouall Brmoun/ HagHHANCS 4) Brmogw/ BKMOTH/ HauanCH
150- Jlwo6oi THMOBHHE PHCKYET HOTEPHTE MECTO, €C/IH 3MoymoTpebager —
1) U3 BHAcTH 2) BIAcTE 3) BRACTEID 4) BIACTH
151- Kakoe Bricka3niBaAne He uBafercd noby aTeN1LHBIM?
1) Nomura gomoii!
2) McnonnaTs npukasauue!

3) Tul mospoHMUIE MHE 3aBTpaT
4) [IycTs B ceple HABCEr1a NoceanTes Jodpo!
152- B xaxom paay TOALKO YKAZAHLI CYMECCTEATENLAEIE JReBCKOro poaa?
1) Tens, DeHb, JEMILA, POAHHA 2) 3HaMA, BpeMA, Belllb, OTOHB
3) cTane, WHIHB, OIOHL, [UTAMS 4) nepeBHA, APMHL, POXh, HOYb
153- OnpegeuTe CIOKAONOIYHHCHHBIC MPELI0KEHHSA ¢ DPHIATOMHLIM CICICTRHS.
1) On npsIen, HECMOTPA Ha TO YTO €0 HE PHITIANIATH,
2) 3a nero Mol Ipyr BEIPOC TAaK, 9TO CTAJ BhIE BCEX B KIacce,
3) Mue¢ HaIO NPOH3IBECTH NMOYHHKY CBOEro aBTOMOOHIIN, TAK UTO PaspellHTe 3aKaTHThL
€70 K BAM B Marasmm.
4) KoppecnoHJeHT HCKA [IIABHOTO HHAKeHepa, 9To0k 3a/1aTh EMY HECKOJIEKO BOTIPOCOB
Ha TpaMBaHHBIE TEMET,
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154- JlexapceTea, JIHATATEABHD =====—===-=== HMMYHHTET, CTOAT 09eHL J0POT0.

1) yKpensiomas 2) ycrnokanpaionue
3) yenoxauparomas 4) yEpennsromue

155- Mgul cMOTpPEIH B TY %€ CTOPOHY, —-—--——/10/IKHAA GL1IA NOSBATECH JTO/KA.
1) rme 2) oTkyna 3) koropas 4) Kyna

b. Pycckasa BcToOpHA H KY/ALTYpPA.
— Brifiepure npasnILaLI BapHanT,

156- OTkyaa DPpOHCXOQHI0 CI0EBO «AIBIYECTRON T
1) OT HEPKOBHO-CNABSHCKOrO A36IKA  2) OT JPEeBHErpeuecKoro A36ka

3) OT ApeBHEPHMCKOTO A3LIKA 4) OT BH3AHTHHCKOTO A3EIKA
157- Kakne cBfimenHbie KHArH BX0aaT B Gafamo?

1) Hosmiit 1 BeTxuil 3aBeTsl 2) Hosmiif 3areT ¥ anokpHdm

3) Berxwuil saseT ¥ anokpHdb 4) AnokpHH

158- KTo 63 pyccKHX XYI0KHHKOB SBJSETCH ABTOPOM KapTHHE! «boraTsipun?
1)B.I. Ilepos 2) L.E. Penun 3) B.M. Cypukor  4) B.M. Bacuenos

159- KTo H3 pyccKHX APaMATYpProB SBIASETCH asTopom nbkec «'ae ToHKO, TAM H pBETCA» H

«Mecan B gepernen?
1) JI.H. Toncroit 2) A.C. [lymkun
3) U.C. Typreunen 4) A.H. OcTpoBckHii
160- e 6b112 oTkpeITa Nepsas mybananan Gubanorexa 8 Pocentickoli aMmepan?
1) 8 Kuene 2) B [letepbypre  3) B Mockse 4) 8 Hoeropone
161- KTo M3 KpynHbIX pyCcCKHX MBICTHTeRell paspaboTan KOHIENUMK «KAPHABAILHOMH
KYABTYphInT
1) 1. Uneun 2) H. Bepaser 3) A. Jloces 4) M. baxTun

162- HajosuTe ropoa, no Jgerenje, ymelmmuii Ha JH0 03epa CO BCEMH XHTEISMH, HO HE
caaepmuiica Bparam.

1) Mypom 2) Kurex 3) Mocksa 4) l'anua

163- -—- 3T0 NpoH3BeNenHe, Hanucagnoe B 1188 roay, nmocesmennomy HeynaumoMmy
noxoay ua noaosues & 1185 roay.
1) «lloBecTs BpeMEHHBIX JETH 2) «Cxasanne o bopuce u I'neben
3) «Cnoso o nonky Hropesen 4) «IToyuenue Bnajumupa MoHoMaxay

164- Kro Gein masecrasmM muaucrpom paemanx genx CCCP so spema Bropoit mmposoi
BoiiHbBl H Hocae Hee?
1) B. Monotos 2) J1. Bepus 3) A. ¥ nanos 4) K. Bopomsnos
165- C xaxam 3apyGexusim rocyaapcrsom soesan Ilerp I B [Monrasckoii faree?
1) ¢ lonsmeit 2) co lIsemnnei 3) ¢ Opannueii 4) ¢ Typuuei
166- Yro Takoe «onpuaHAHan T
1) NpHHYIUTeAEHEIH HATYPAIGHBIR HIH JcHEXKHEIR cOop ¢ KPecThiH, BIHMABINMIICH
NpPH KPEMOCTHOM NPABE MOMEIIHKOM HIH MOCYJapCcTBOM
2) cHcreMa upe3Bnl4aiiHBEIX Mep, ocymecTaneHHbx MBanom ['posHeIM JUIS pasrpoma
OTIMO3HIMH M YKPEIUICHHs CaMOJepRaBHa
3) 3akoHOCOBeIATENEHOE BEIDOPHOE MPECTARMTENBHOE YUpekIcHHe B Poccun
4) peIOOpHEIA opraH ropoACcKoro yIpasIeHHs
167- Benana reapans OBLIA AKTABHA B T0/Jl] ====e=====——
1) yeweHCKO#H BOHHE 2) polinel B AdranucraHe
3) rpasIaHCKOH BOHHEI 4) Bropoii MEpoBO BOMHEL
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168- Ilapcrrosanne kakoii funacTun Ghino 3apepmeso B 19177

1) PropukosHgn 2) cemuboapmmHa

3) camo3BaHIE 4) Pomanosst
169- Kak nassisanca kocmudeckuii kopabis, Ha koropom HO.M. 'arapun cosepmm nojer B

xocmoc?

1) Bocrok 2) Coios 3) CriyTHHEK 4) Bocxon
170- Kawoii pycckmii macarens noayann Hobenesexyio npemmio B 80-x rogax B ofiacta

JHTEPATYPHI?

1) M. lllonoxos ~ 2) B. Kasepun 3) M. bponcemiit  4) A. ComkeHHIBIH

Hggmilyd b ) dalpd St 8 g 3L g il L

Partie A: Francais général

Trouvez la bonne réponse:

171- Réécrivez la phrase suivante en utilisant le pronom relatif qui convient: «Nous avons tous
envie de vacances.»
1} Les vacances que nous tous avons envie.
2) Les vacances dont nous avons tous envie.
3) Les vacances de quoi nous avons tous envie.
4) Les vacances auxquelles nous tous avons envie.
172- Trouvez la phrase CORRECTE:

1) Au lvcée, j’ai beaucoup d’amis. 2) Au lycée, |'v ai beaucoup d*amis.
3) Au lyeée. jen ai nombreux amis. 4) Au lycée, |’y ai nombreux amis.
173- Mettez la phrase suivante & la forme négative: « Quelqu’un a sonné ».
1) Personne a sonné. 2) Personne n’a pas sonné.
3) Personne n’a sonné. 4) Personne n’a sonnée,
174- Remplacez les pointillés par les formes qui conviennent: «---———--—--—-- fait tout mieux
-------- —=),
1) On/ moi-méme 2) On / lui-méme
3) 1/ lui-méme 4) On / soi-méme
175- Tout le monde....commmsmee content. La plupart -—------—-—- :
1) est / s"impatientent 2) n’est / s"impatientent
3) est / s"impatiente 4) n"est / s’ impatiente
176- Le feu -—--———meemm tout en cendres.
1) résoud 2) résout
3) résolu 4) résolve

177- Trouvez la phrase CORRECTE:
1) Dis-moi comment tu t"appelles.
2) Dis-moi comment t"appelles-tu?
3) Elle aimerait savoir comment le film s’est-il terminé.
4) Elle aimeraitl savoir comment s est-il terminé le film.

178- Quand bien méme tu —------———-- pas, compte sur moi.
1) ne le ferais 2) n’en feras
3) ne le fais 4) n'en lais
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179- Les fourmis ont —--------—--- les provisions qu’elles avaient patiemment -—-----——------ a
1) entassé / cherché 2) entassées / cherchées
3) entassé [ cherchées 4) entassées / cherché
180- Les perches —=-ammmmeeaee VOUS MONLEZ SONE =mmmmmmm—e————- :
1) desquels / hauts 2) desquelles / hautes
3) auxquels / hauts 4) auxquelles / hautes
181- Le soleil nous —-=--mnveemeeee de ses rayons briilants.
1) a accablée 2) a accahlé 3) a accablés 4) ait accablée
182- Mecttez le verbe qui convient au passé simple: «-—-----——---- aussitit, mais sa plaisanterie
ne me dérida pas. »
1) I"acquérais 2) Jacquiescais
3) Iacquis 4) I"acquiesgai

183- En 1918, il a vu transporter des malheureux attagués par le gaz moutarde, —------——-
rien ne le laissait prévoir, plusieurs jours aprés un bombardement.
1) alors que 2) des lors que 3) mais 4) malgré que
184- Trouvez la phrase INCORRECTE:
1) Ne mens-tu pas pour éviter la punition?
2) Vais-je rendre visite & ma cousine?
3) Aviez-vous dans votre valise?
4) Sortira-t-il ce soir?
185- Tournez par le passif la phrase qui est a Pactif: «Jamais on n*aura vu pareil spectacles,
1) Jamais il ne sera vu pareil spectacle.
2) Jamais pareil spectacle n’aura été vu.
3) On n’aura jamais vu de pareil spectacle.
4) De pareil spectacle jamais n"ai vu.

Partie B: Histoire et culture générale

Trouver la bonne réponse:

186- Apris la conquéte de la Gaule par les Romains, laquelle des provinces devient la capitale

du pays?
1) la Belgique 2) la Narbonnaise
3) ' Aquitaine 4) Lvon
187- Les Mérovingiens sont la dyvnastie qui regna -----——---—-. Elle a été fondée par ——----—-,
Cest la —--—————- dynastic de France.

1) du IV® au VII®/ Mérovée / seconde
2) du V* au VIII®/ Clovis / premiére
3) du VII® au X* / Clovis / troisiéme
4) du VIII® au XI¢ / Mérovée / quatriéme
188- La féodalité, systéme oil les relations entre personnes sont basées sur des contrats entre

ces mémes personnes, débute en France avee —----—-——- :
1) Charlemagne 2) Louis le Pieux
3) Louis premier de la France 4) Louis le Germanique
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189- Trouvez la réponse INCORRECTE: L'occupation principale d'un chevalier est -——-e---- .
1) de se battre contre les pouvoirs extraordinaires
2) la guerre pour s’ enrichir grice au butin
3) de se battre pour son suzerain
4} la guerre pour agrandir les terres de son seigneur
190- Quel conflit oppose, de 1337 4 1453, la dynastie des Plantagenéts 4 celle des Valois?

1) La seconde guerre mondiale 2) La guerre de Cent Ans
3) La guerre de Troyes 4) Les Croisades
191- Au Xllle siécle, Louis IX met en place la possibilité de contester devant la justice royale
une décision prise par un seigneur local: ¢'est la naissance =--=e-—eeemeeee .
1) de la Chambre de Justice 2) de I' Académie frangaise
3) du Parlement de Paris 4) du Palais royal

192- Comment appelle-t-on cette révolte qui a eu lieu du 27 au 29 juillet 1830 et pendant
laquelle les parisiens renversent le roi Charles X7

1) Les Trois Glorieuses 2) La Reévolte des Gueux
3) La Restauration 4) Le Vendredi Noir
193- En France, la cinquiéme république nait ---—------—-—- :
1) du mai 1968 2) du Second Empire
3) de la guerre d” Algerie 4) de la seconde guerre mondiale
194- Laguelle des cas suivants N'EST PAS I'euvre de I'Assemblée nationale constituante de
France”

1) La Déclaration des droits de 'homme et du citoven
2) L. ’expérimentation des maisons de naissance
3) La Constitution frangaise de 1791
4) La Constitution civile du clergé
195- En France, les sans-culottes sont les acteurs principaux de la période révolutionnaire entre
1792 et 1794, Leur nom vient du fait gu'ils portent ---———----- -=,
1) un gilet ou une veste courte
2) un pantalon long tombant sur les chevilles
3) un bonnet rouge avec la cocarde tricolore
4) une pipe teintée d'un brun noirétre par I'usage
196- Cet homme politique frangais fut ministre sous les présidences du général de Gaulle et de
G. Pompidou. 11 fut Premier ministre sous les présidences de V. Giscard d'Estaing et de
Francois Mitterrand. 1l s’agit de -——----—-,
1) Jean-Marc Ayrault 2) Francois Hollande
3) Nicolas Sarkozy 4) Jacques Chirac
197- Dans 'histoire des relations franco-iraniennes, Laurent Fabius est critiqué pour son
implication dans I'affaire -—----———----- .
1) du sang contaminé
2) de la vente des armes a Saddam
3) de la société de I'Eurodif
4) de la sanction des hommes politiques iraniens
198- Aujourd’hui, tout citoyen francais peut se présenter i I'élection présidenticlle s’il remplit
les conditions ------——----- :
1) de bénéficier d'une campagne équitable
2) d’avoir plus de 20 ans
3) d*étre de nationalité européenne
4) d”avoir recueilli 500 signatures d'élus
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199- Quelle religion est actuellement considérée comme la deuxieéme religion en France?

1) Le protestantisme 2) Le catholicisme

3) LIslam 4) Le judaisme
200- Avec quel roman historigue Victor Hugo décrit la Révolution francaise?

1) L' Homme qui rit 2) L’art d"étre grand-pére

3) Qualtre-vingt-treize 4) Les Travailleurs de la mer

H gl 3l ) i i g 2 U

201- Which company facilitated the entry of Britain into India?

1} East India Company. 2) West India Company.

3) East Dutch Company. 4) British International.
202- Who was the first Indian Prime Minister after independence?

1) Indira Gandhi 2) Mahatma Gandhi

3) Jawaharlal Nehru 4) Moraji Desai
203- Which language was considered as Islamic identity for Muslims?

1) Farsi 2} Urdu 3) Hindi 4} Sanskrit
204- Who was the leader of the “Sarvajanik Sabha™ in 18717

1) Jawahar lal Nehru 2) Mahatma Gandhi

3) Surendranath Banerjee 4) Mahadev Govind Ranade
205- Where was the first annual session of the Indian National Congress held?

1) Delhi 2) Bombay 3) Chennai 4) Calcutta
206- Mahatma Gandhi was shot dead by:

1} A Hindu fanatic 2) A Muslim fanatic

3) A British national 4) A Pakistani national

207- What is the meaning of “Karma voga™?

1) It implies that action is a sacrifice.  2) [t implies that doing “voga™ is good

3) It implies to avoid of superstition.  4) [t implies the action of national liberty.
208- When did the partition of Bengal from India happen?

1) 18935 23 1900 3) 1905 4) 1915
209- Which “fund” Gandhi used to collect money during the non—cooperation campaign.
1) Birla Fund 2) Marwari’s Fund
3) Chandra Bose Fund 4) Tilak Swaraj Fund
210- Which beach did Gandhi start his Salt March from?
1) Ganga River 2) Chauri Chaura
3) Yamuna River, Allahabad 4) Dandi. Gujarat

211- Britain ruled over India during the colonial era through:
1) Indian military
2) Indian nationals
3) Faithtul Indians
4) British citizens appointed by British Government
212- Who was the successor to Mrs. Indira Gandhi?

1y Akali Dal 2) Rajiv Gandhi

3) Zail Singh 4) Asom Gana Parishhad
213- What was the name of mosque demolished at the time of Rajiv Gandhi?

1) Babri Mosque 2) Jama Mosque

3) Ziarat Shareef Mosque 4) Tipu Sultan Mosque
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When/ where was Rijiv Gandhi assassinated?

1) Near Punjab in June 1989 2) Near Madras in May 1991

3) Near Assam in August 1990 4) Near Delhi in April 1995

When did the Congress Party lose its seats to 136 & BJP won 160 seats?

1) May 1991 2) June 1993 3) Feb 1977 4) May 1996

HgonelSl j ) Jlods s ol St yd g g )b

Baseball was invented by.

1) John Muir of Alpine club at University of California in [1887.

2) Tex Riekard of Madison square Garden in New York in 1920.

3) Big Bill Havwood of IWW in Salt Lake City, Utah sports center in 1905,

4) Dr james A. Naismith an instructor at YMCA in Springfield, Massachusetts in 1891,

The name of Upton Sinclair’s famous novel about a Lithuanian immigrant’s experience

in a meat packing plant.

1) The zoo (1931) 2) The Jungle ( 1906)

3) The packers (1911) 4) The slaughter House ( 1983)

Which one of the following choices explains Eisenhower’s domestic policies?

1) Extension of Mew Deal

2) Tax cuts & small government

3) Promotion of health care and education programs

4) More government intervention in domestic programs.

“The scopes trial” are known for --———-—--—

1) Alexander scope who taught Marxism at Unwusrw of Washington in 1957,

2) Civil rights activist John Scope arrested & tried for protesting against KKK in 1961
in Alabama

3) Teacher John Scope who taught Darwin theory of Evolution in his biology class in
1925 in Tennessee.

4) John Scope accused & tried for preaching desegregation of public schools in 1952 in
Kansas.

What was the shared concern of George Washington in 17%0s and American Senators in

1920s in their opposition to Versailles Treaty?

1) Making the world safe for democracy

2) Supporting anti-dictatorship movements

3) Maintaining good relations with Latin America

4) Keeping the ULS, out of foreign entanglements

What was the main issue dominating national politics before the Civil War?

1) Indians 2) civil rights

3) imperialism 4) industrialization problems

The Book “Pragmatism” was published by.

1) William James in 1907

2) John Dewey in 1912

3) Charles Sanders peierce in [89]

4) William Carlos Williams in 1905
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223- New England Colonies included:

1) Virginia, Georgia. New Jersey

2) New York, New Jersey. Delaware

3) Connecticut. Plymouth, Massachusetts

4) Delaware, Massachusetts, Virginia
224- The Accident at which Nuclear Facility happened in 1979,

1) Fox plant in New York 2) Alamo Plant in Houston. Texas

3) Pine Ridge plant in Richmond, VA. 4) Three Miles Island in Pennsylvania
225- Which event disclosed that U.S had secretly hombed Cmbodia in 1969-19707

1) Korean war 2) Vietnam war

3) Watergate scandal 4) Congressional investigations
226- Cesar Chavezin 1965 called for.

1) Boycott of Table Grapes

2) Voting rights for farm workers

3) Political participation of Latinos in U,S, politics

4) Media ownership of major newspapers in Calilornia & New Mexico
227- John peter Zanger's Libel Trial was about,

1) Publisher of New York Times in 1972

2) Publisher of Mother Jones in 1936

3) Publisher of Nation Magazine in 1965

4) Publisher of New York weekly journal in 1735.
228- “Johnson-Reed Act of 1924",

1) Provided for the immigration of 200,000 Jews & Italians to U.S.

2} Set a Quota of 150,000 immigrants 90% from northen Europe.

3) Provided for the immigration of 75,000 East Asians as skilled labor.

4) Provided for the immigration of Lebanese & syraians as skilled labor up to 300.000.
229- Before the 19" Amendment which state allowed women to vote in 1777 but closed the

Loophole?

1) New York for white Mothers

2) New Jersy under the title All Individuals

3) Connecticut for white females involved in American Revolution

4) Massachusetts for white female patriots resisting Britain’s rule
230- “Cotton Gin™ was invented hy.

1) Eli Whitney in 1793 2) John Marshal in 1910

3) Scott Fitzgerald in 1923 4) Alexander Scotts Boro in 1867
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BA&RELE  (Japanese Grammar)

231- 4o () kb, sSHEIZERERELTI ARNW?

1) BofxT 2) Liai 3) P ) Kt
232- PARzLTHL () Rhif, 3EN LBVET L,

1) #FELT D) EHLHT  NEIHT 4) BT T
233- AREHALEFEE (1 ) . FESBE LV LIBEEEEA.

NEWVS O 2) £oTH NEVIDIT HEWVLT
234- Bk A () |, BRADOFIAREE L ERD,

1) 2OFNT 2)ICMLT 3) iCHRT HIZHLMELT
235 tOMVOELZEEE () MbR2hb, BvAELEWVWESS,

1) =% NEX 3) i D 4) D
236- A FORBEIIEICR2BE, () BhbLY,

1E X Hh 2) bt NESIC 4) fAY
237-H0=2—ZMVT, BE () ETLHELAATLELR,

DEFTCRERL 2—F NEZAHHR 4) ELE
238-7 AU AREATOERL VLT, () EEXEEMEIREVLL,

1) 9% 2) BHlzinh NESHT 4 BTLE

ML BT (Vocabulary and Kanji characters)

239. HOHBWTHF 7 —TifFofH, () MELVEBMIE-E,

1)HEH T 2)proT 3) b T 4) FEFIZ
240- k&S () Lok, ZoF—< BT IFRENERICEBLVEBVET,
DHELE 28 L~ K l-ter (e HEo2L 2D
241- #o4<

NEELL o, Bob{MiE-TLE-%,
DIHBEENOZFE-2I TT L.

NFEHE oD SV T NDZ, BERBLETIEoL,
HEOTBIIARAC LR o DL RNE ST
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242- REMEEZ—H bR BRI IR,

DWE XD NELELD NMAETD D 4) hE XD
243- = OWROBERMETIZH Y A,
DES>EK HEFIX HNEFEL 4HFX

HAERE (Reading&Comprehension)

RATHE, TRi% [ L8 5EANS5, fliE, ALERIcVIREAREOR LY
EHPEE, FMIE ARLsENMIEL] &, F3TEVILZLTVEIOLICEL =
HTLAMT, CRE D RS CHIL, ThARETIEVCBIFEE L TALE MR
LToTLES, EWiZLtbdd.

B B R AL 0T, VWERBALSVR, EYICET IR bRV DI,
HLEOLOTIRAL, HLLAHEL IS a=b—va 2ol b5, aiasy
—arORNE AR LWTATFTREEREVIETRE,

244- EEE, [HI) ZoVTAKEESTWED,
1) ST ROFRECLEDIOT, RHH2EL,
2) A B R LTECC TRV,
MR RV EEDL, FERRYBITSEE,
4) HIBBIE. FLOWT A FTHBETIAEN,

HBEERIC (hikd, BREYENEN S ARLILSEI—BOLORAD] LVWIKE
% L% L, RLVER & REZTERS, (HHED) KLEXELE “OBR
ic5 2P ARBASVOTRAVTLE 5D, BLEFO—A, 8O ETRMEH SR
R BRI bR Do DIz, HHEY BE>TL 5L FERICEPINEEY, VT4
FT RPN Y TENETT,

245- fREFIZ, 2E @O0 BRVEHKLTVSD,
N#EHEID HB-T 57
DFEI VLR, FOEVRBRVEARLESEILD
INFHE Y FEFAHERSL, BWTATF7HERELELD
4) #isHE1 0 TR AR
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AZAIC{k - BB (Japanese Culture&History)

REO BEOBESERIZ, (2068) FLoTWVa, ERORBETHS (207) D4 RHERE
B, (248) BEIEETOI. RER, Ho (249) ELTHFEL, EHEICIESERD LAY,
F&EEER, PEFIORDD ETRBICEIEET o T, 1192 4FiC (250) ®i2C
HLTLIELINBEEOEEELEY, (251) LME, Thill, XREAEfEOXEER-E,

246- 1) 7 S il ) UHEEER 3 EREIE 4) F i E
247- ) EL 2) RB 3) #HAr 4) A
248- 1) @2 2) B 3) AT 4) A
249- 1) fo 2) it 3) i 4) AR

250- 1) ik 2) )11 3) BRI 4) IR
251- 1) BUFF 2) HiE 3) B HF 4) By

I

A&, HERBLPEERAOND, BEOPEICEFEELVEREL. PEOEALEIE
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